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Questions

The chemical present in smoke of cigarette which makes the person addict is

DPT is not effective is.

BCG saves the child from

The age of the child in which he is given first injection of BCG is.

The drinks which can be used in more in hepatitis are.

The age of child in whihc the child is injected wiht measles is.

The chemical present in the cigarette smoke is

The important symptom of measles is

DPT vaccination is not effective for the disease

The disease which may produced hydration in the body

Those drugs which relieve pain, promote sleep, and produce addiction are called

The taste of nicotine is

How much population of the worlds is deprived of drinking water

The first BCG vaccination should be given to the child at

To kill the mosquitoes the oil which is sprayed is
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Answers Choice

A. Tar

. Nixotine

. Carbon monoxide
. Nitrogen dioxide

. diphtheria

Polio

Whooping cough
Tetanus

. Diphtheria
Polio

T.B
Hepatitis

. First month
At birth
Third month
. Ninth month

Sugarcane
Milk

Water
Juice

At birth
First month
3rd month
9th month

Tar&nbsp

Carbon monoxide&nbsp
. Nicotine&nbsp

AllAB,C

. Muscles infection
Koplik's spot
Dehydration
Paralysis

. Diphtheria&nbsp
Polio

Whooping&nbsp
. Diphtheria&nbsp

. Typolid&nbsp

. cholera&nbsp
whooping cough&nbsp
. Diphtheria&nbsp

. pain killers
narcotics
sedatives

. hallucinogens

Sweet&nbsp
Sore&nbsp
Poisonous
. Saltish&nbsp

. Three fourth
One third
Half

. one fourth

one month

. Birth&nbsp
. Three months&nbsp
. Nine months&nbsp

. Chloracne
D.D.T

. Meta thyon
AZT






